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[EE] BloLSIc.( ORI EEEREFELLS.
Fill in the blanks, just like the example.

Bl. BUSELT.Fro( 77 ). &BL<HRALILET.

1. A BUBHELT. TILIP( )
B: /8¢ e
C: Fh( )P )e
2. A: CAlcBIZ, ER( )o kBUKBRALLET .
B: CAICBIE. F( )o ¥3ELBUBRVLET,
3. [RUBELT. (BRI ) )o kAU BRELILET,

® [place BFINSEELS:.

[(#E] Flnd>ic. BOBREANTENELES.,
Say it with the name of a country, just like the example.

Eel ]

BiARL - ( REFLDBRELE )e
1L.Ev— = | Yo
2. 91 = ( Yo
3.4V T7-> ( )o
4. 88 > (

5. hihI7? = (
6. 75U - (

oAy

7. HS50HE - (
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(B8] PloLsic, ELLCEBERUELLS,
Choose the correct word, just like the example.

Bl. A: ERIE?

B: ( ISUNTY /FNIPTE) EHL<BBILET ).
1. A: BERIZ?

B: ( #YSTE/HYINBRELE/IITTAIL ).

A: TIS5E A, CEEIR?

B: ( RLUPTE/ REETE /AURITHSEKELE )o
2. A CAICBIEEFTT. HBAIE?

B: PHANLTT.

C: ¥IUTY,

A PHIIEAL BEIZ?

B: ( ¥IUTY/BUAHTT AVERITTT ).

A: PSUTAIL?

C: Falg ( SHBTE / SrUv—noRELE/ L. ESTT ),

ASH?

[(RE) BloLsic. BROF IcLELES.
Make it into question form, just like the example.
Bl. A: anxalk (BESTE » KE5TIH )7

B: L. BUAHTY,
A: RUTAIL (FADSTT - )?
B: 2L\, 91D BEELS,
2. A B05. (HETATE - )?
B: LW\x. A REFTT,

A: BEE, (DhWFET - )?

B: 2L\, BU. DHYET,
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ONE

[HE] Bln&>Ic. (

.

Fill in the blanks, just like the example.

A

N
: Foodh. HE(
: REFLTT,
: REFLOD. EB5(
P INJITY.
D NEAIE?
N
IS EA

OP>PO0>POP>PB>O0>D®>0®

coEEC )2

s HIHDEELE,

. tﬁ:( ;' )\. 9'1'?_4‘9
: J0-\Eh CEEIE?

: 24IVEDTY,

D UTAEA( )7
W4T,
)7

INNT LT,

: uui\'ﬁ(

ON UrB\TT

Tled

(&)

s

nL oTU BT
FIDESIC, BEDH ICLELEL D,

Make it into negative form, just like the example.

i g

LAa&L [ -T}—l = y, 7t

YDRICC LI EBIFELLS,

). RRFLDSTEH ?
YHURITHSEE UL,

A: TRSEAIZ AR LS TEM?

B: WWA, ( ARTALSENTT ) AVRSPHSRELSE.
Al JIAVEARR. SPIR—DSTITH?

B: L. ( )e TAUEUNSRELL,
A: FUTAE RRFLRSTEN?

B: LA ( )o SADSRELT

A ZUEAE. IS TIN?

C: VWAL ( )o B lf, SPUT—HSRELL,
A: BOS ERSATIHN? _

B: LA, Fh1Z( ) BF T,

A: BUBELT. P=HTT,

B: P=HTA?

AEN Ve P=hTT,
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